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0.000...0.004 | 0.03651 16 | 055 11 010 0.09 065 044 0.76 - 0.12
0.004...0.008 | 0.03646 16 | 056 1.1 003 0.04 074 046 036 0.03 0.04
0.008...0.012 | 0.03690 16 | 056 1.1 015 0.03 081 046 0.27 0.01 0.06
0.012...0.016 | 0.03722 15 | 056 11 010 0.02 070 045 023 0.03 0.01
0.016...0.020 | 0.03740 1.5 057 1.1 020 0.02 0.68 045 0.21 0.13 0.06
0.020...0.024 | 0.03933 16 | 057 12 019 0.02 074 048 019 001 0.12
0.024...0.029 | 0.03911 14 | 051 1.0 008 0.01 069 046 0.16 0.06 0.05
0.029...0.034 | 0.03974 15 | 052 11 005 0.01 0.69 045 0.16 0.09 0.09
0.034...0.045 | 0.04116 1.1 035 071 0.09 0.01 068 043 017 0.03 0.06
0.045...0.057 | 0.04355 1.1 035 071 0.04 0.01 068 043 0.14 0.02 0.01
0.057...0.072 | 0.04485 1.1 033 068 0.08 0.01 068 041 014 0.14 0.02
0.072...0.091 | 0.04710 1.0 | 032 0.65 0.04 0.01 060 040 0.14 0.04 0.02
0.091...0.114 | 0.04932 1.0 032 065 0.04 0.01 064 038 0.14 0.01 0.05
0.114...0.165 | 0.05226 0.87 | 0.25 050 0.02 0.01 056 035 0.15 0.03 0.02
0.165...0.258 | 0.05606 0.85 | 0.24 048 0.03 0.01 056 030 0.16 0.02 0.03
0.258...0.524 | 0.06006 0.82 | 0.23 047 0.02 0.02 053 022 023 0.02 0.09
0.524...1.153 | 0.06586 1.1 | 033 0.77 004 0.08 041 025 056 0.05 0.07
1.153...3.277 | 0.0760 1.9 056 14 0.02 017 028 027 1.0 0.13 0.09



